Tableaux des Puissances de Dix (E)

Multipliez le nombre de la rangée par celui de la colonne.

1000

100

0,1

10 000

84

67

70

12

0,1

0,0001

100

0,001

26

24

96

49

0,01

0,1

0,001

0,0001

29

76

64

66

74

10 000

1000

10

100

53

89

90

21

26

MathsLibres.com




Tableaux des Puissances de Dix (E) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 1000 100 0,1 10 000
84 84 000 8400 8,4 840 000
67 67 000 6700 6,7 670 000
70 70 000 7 000 7 700 000
12 12 000 1200 1,2 120 000
9 9000 900 0,9 90 000
X 0,1 0,0001 100 0,001
1 0,1 0,0001 100 0,001
26 2,6 0,0026 2600 0,026
24 2,4 0,0024 2400 0,024
96 9,6 0,0096 9600 0,096
49 4,9 0,0049 4900 0,049
X 0,01 0,1 0,001 0,0001
29 0,29 2,9 0,029 0,0029
76 0,76 7,6 0,076 0,0076
64 0,64 6,4 0,064 0,0064
66 0,66 6,6 0,066 0,0066
74 0,74 7,4 0,074 0,0074
X 10 000 1000 10 100
53 530 000 53 000 530 5300
89 890 000 89 000 890 8900
90 900 000 90 000 900 9000
21 210 000 21 000 210 2100
26 260 000 26 000 260 2600
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